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Pracovní list 

Sčítání a odčítání přirozených čísel – se 

závorkami 

Úkol: Doplň tabulku.  

Varianta 1    Varianta 2 

PŘÍKLAD VÝSLEDEK PŘÍKLAD VÝSLEDEK 

86 – (41 + 36) =  4696 – (147 + 3669) =  

63 + (1647 – 874) =   8543 + (486 – 236) =   

412 – (41 + 300) =   216 – (31 + 85) =   

247 – (54 – 52) =   543 – (526 – 26) =   

(99 – 14) - (31 + 41) =  (152 – 53 ) – (21 + 53) =  

352 – (26 + 98) =  422 – (36 + 107) =  

(86 – 45) - 18 =  (96 – 48) - 36 =  

89 – (93 – 72) =  319 + (49 – 8) =  

935 + (589 – 487) =  963 – (489 + 361) =  

78 – (52 + 6) =  49 – (32 + 8) =  
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